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For each of the frequency response plots (A, B, C, D, E, F), determine which one of the following
systems (specified by either an H(z) or a difference equation) matches the frequency response.

NOTE: frequency axis is normalized; it is @/x.

So: y[n] = 0.93y[n — 1] + X[n — 1]

Z—l
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1-0.93z71 +0.8649z2
St H@=0-z14°
Ss: H@=1-z1'4z2-73

S : y[n] = x[n] — x[n — 3]

3
= Z x[n — K]
k=0

57 y[n]

Ss: y[n] = x[n] + 2x[n — 1] 4+ 3x[n — 2] 4+ 2x[n — 3] 4+ x[n — 4]
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For each of the frequency response plots (A, B, C, D, E, F), determine which one of the fol-
lowing systems (specified by either an H(Z) or a difference equation) matches the frequency
response. NOTE: frequency axis is normalized; it is & /7. ‘L
> ~ pea k at

1—0.93&3 w=0

So:  yln]=093yn—1)+zn-1 =2 HE®) =

P!

) -y - &= T
Sii H@) = T—1315:-1+0.8640,2 *»poke & is 4s° = Peak atb ©=Ts

. ) — 2! . 300 = k at L=
S0 H@ =175 +0.864922 7"?"'3[‘ s 367 = pes
A
-1 =T
Sy: H(2) Z le Z is EDD_‘-} ' ka} “ /3

Y T 1093, T108640.2 =2 P° |
g AN I N T2
Sa: H(:)Z(l—z‘1)31—?H(e-f‘”)=(|—é-‘“‘) = € (-%sin (%)

T -
2) 2

‘55: H(:)—_-l‘—Z—I—FZ_z—Z_s 2 H[e.f@) has %ems Qj- L:;:D,
.. A -
St ulnl = alnl — aln 32y H(e) would be zer ak 320, 2T, -2E
3 ) K A R
S0 ulnl =Y aln— K 2p H(el?) = €972 Sin2S D 2ers:w=T L -T
k=0 S5in ‘%
Ss:  y[n] = z[n] + 2z[n — 1] + 3z[n - 2] + 2z[n — 3] + z[n - 4]
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